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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

[˝Á◊SLÓ ( Commerce ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

T ˆTˆ›Ã^ Yy ( 3rd Paper : Group – A, Statistics ) 
a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 50 
Time : 2 Hours Full Marks : 50 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
 

Â^-ÂEıÁ„XÁ YgÁªJÙ◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 10 × 5 = 50 

1. ◊X∂oˆ◊_◊FTˆ Y◊Ã[˝aeFÓÁ ◊[˝\ˆÁL„XÃ[˝ Â^Ï◊GEı GQÕˆ, ]W˝Ó]Á C 
aeFÓÁmÃ[˝” ]ÁX ◊XSÔÃ^ EıÃ[˝”X :  

Ê`“S›-[˝Ó[˝W˝ÁX 110-119 120-129 130-139 140-149 

Y◊Ã[˝aeFÓÁ 5 7 12 20 
  

150-159 160-169 170-179 180-189 

16 10 7 3 

    

2. X›‰ªJÙÃ[˝ TˆUÓ ÂU„Eı Y“aÁÃ[˝, ªJÙT«ˆUÔEı ◊[˝ªJ«ÙÓ◊Tˆ, GQÕˆ ◊[˝ªJ«ÙÓ◊Tˆ 

(]W˝Ó]ÁÃ[˝ aÁ„Y„l˘) A[˝e a]Eı ◊[˝ªJ«ÙÓ◊Tˆ ◊XSÔÃ^ EıÃ[˝”X : 

 24, 35, 51, 65, 78, 106, 129. 

3. X›‰ªJÙÃ[˝ Ã[˝Á◊`TˆUÓ ÂU„Eı x C  y ªJÙ_Eı V«◊ªRÙOÃ[˝ Âl˘‰y ◊X\ˆ¤Ã[˝S 

aÃ[˝_„Ã[˝FÁV«◊ªRÙOÃ[˝ a]›EıÃ[˝S ◊XSÔÃ^ EıÃ[˝”X :  

x 11 14 14 17 17 21 25 

y 15 27 27 30 34 38 46 

   

4. X›‰ªJÙÃ[˝ TˆUÓ ÂU„Eı Paasche-AÃ[˝ Yà˘◊Tˆ [˝Ó[˝c˜ÁÃ[˝ Eı„Ã[˝ 

2005 aÁ_„Eı ◊\ˆ◊w¯ [˝daÃ[˝ W˝„Ã[˝ 2012 aÁ„_Ã[˝ LXÓ "V„Ã[˝Ã[˝ 

a…ªJÙEı aeFÓÁ' A[˝e "Y◊Ã[˝]ÁS a…ªJÙEı aeFÓÁ ◊XSÔÃ^ EıÃ[˝”X' :  

YSÓ 
2005 2012 

VÃ[˝ Y◊Ã[˝]ÁS VÃ[˝ Y◊Ã[˝]ÁS 
A 2 8 4 6 

B 5 10 6 5 

C 4 14 5 10 

D 2 19 2 13 
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5. X›‰ªJÙÃ[˝ TˆUÓ ÂU„Eı Spearman-AÃ[˝ ]ÁXy‘◊]Eı ac˜GÁ·¯ ◊XSÔÃ^ 
EıÃ[˝”X :  

ªK˜Á‰yÃ[˝ ÂÃ[˝Á_ 
X∂ë̂ Ã[˝ 

1 2 3 4 5 6 7 8 9 10 

G◊S„TˆÃ[˝ X∂ëˆÃ[˝ 80 38 95 30 74 84 91 60 66 40 

Ã[˝Á◊`◊[˝p˚Á„XÃ[˝ 
X∂ë̂ Ã[˝ 

85 50 92 58 70 65 88 56 52 46 

    

6. ◊X∂oˆ◊_◊FTˆ Tˆ„UÓÃ[˝ _◊Húˆ [˝GÔ Yà˘◊Tˆ„Tˆ AEı◊ªRÙO aÃ[˝_ÍÃ[˝◊FEı 

Y“[˝STˆÁ ÂÃ[˝FÁ ◊XSÔÃ^ Eı„Ã[˝ 2000 aÁ„_Ã[˝ =dYÁVX ]ÁyÁ ◊XSÔÃ^ 

EıÃ[˝”X :  

[˝ªK˜Ã[˝ 1991 1992 1993 1994 

[˝Á◊bÔEı =dYÁVX 
(c˜ÁLÁÃ[˝ ªªRÙO„X) 

50·3 52·7 59·3 57·3 

 

1995 1996 1997 1998 

56·8 60·7 62·1 58·6 
   

7. ◊X∂oˆ◊_◊FTˆ ªK˜Eı ÂU„Eı x = 5·6-AÃ[˝ LXÓ y-AÃ[˝ ]ÁX =Y^«N˛ 

%‹ôˆfY“„l˘YS a…‰yÃ[˝ aÁc˜Á„^Ó ◊XSÔÃ^ EıÃ[˝”X :  

x 2 4 6 8 10 
y 10 13 17 19 22 

   

8. (Eı) "Y“◊TˆÍ[˝b]Ó' C "Tˆ›©¬˘TˆÁ' EıUÁ V«◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 4 

 (F) X›‰ªJÙÃ[˝ Y◊Ã[˝aeFÓÁ ◊[˝\ˆÁL„XÃ[˝ Â\ˆVÁ·¯ ◊XSÔÃ^ EıÃ[˝”X : 6  

Ê`“S›-%‹ôˆÃ[˝ 0-10 10-20 20-30 30-40 40-50 

Y◊Ã[˝aeFÓÁ 4 10 16 12 8 

 

9. (Eı) },,{ cbaA =  A[˝eı },,,{ fecbB =  c˜„_ 

(i) A-Ã[˝ aEı_ =Y„aªRÙOm◊_ ◊_F«X* 

(ii) A – B  A[˝e B – A ◊XSÔÃ^ EıÃ[˝”X*ı 2 + 2 

 (F) A C B Â^ ÂEıÁX V«◊ªRÙO Âa‰ªRÙOÃ[˝ LXÓ Y“]ÁS EıÃ[˝”X Â^ı 

BABAA ∩=−− )( . 6 

10. (Eı) V«◊ªRÙO Yl˘YÁTˆ`…XÓ ªK˜hıÁ AEı[˝ÁÃ[˝ ◊X„l˘Y EıÃ[˝„_ 

=Y◊Ã[˝\ˆÁ„G Y“Áä aeFÓÁm◊_Ã[˝ Â^ÁGZı_ Â]Ï◊_Eı aeFÓÁ 

c˜[˝ÁÃ[˝ aïˆÁ[˝XÁ EıTˆ ? ı   5  

 (F) X›‰ªJÙÃ[˝ aïˆÁ[˝XÁ ◊[˝\ˆÁL„XÃ[˝ Â\ˆV]ÁX ◊XSÔÃ^ EıÃ[˝”X :  5 

x 1 2 3 4 5 6 
p ( x ) 0·10 0·15 0·20 0·25 0·20 0·10 
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English Version 

 

  Answer any five questions. 10 × 5 = 50 

1. Find the mean, median and mode of the following 

frequency distribution :   

Class- 
interval 

110-119 120-129 130-139 140-149 

Frequency 5 7 12 20 
  

150-159 160-169 170-179 180-189 

16 10 7 3 

    

2. Find range, quartile deviation, mean deviation 

(about the median) and standard deviation from 

the following data :   

 24, 35, 51, 65, 78, 106, 129. 

3. Find, from the following data, the equations        

of the two regression lines for the variables          

x and y : 

x 11 14 14 17 17 21 25 

y 15 27 27 30 34 38 46 

   

4. From the following data, taking 2005 as the base 

year and using Paasche's method find the 'price 

index number' and the 'quantity index number' 

for the year 2012 : 

Commodity 

2005 2012 

Price Quantity Price Quantity 

A 2 8 4 6 

B 5 10 6 5 

C 4 14 5 10 

D 2 19 2 13 

   

5. Find, from the following data, Spearman's rank 

correlation coefficient :  

Roll No. of 
students 

1 2 3 4 5 6 7 8 9 10 

Marks in 
Mathematics 

80 38 95 30 74 84 91 60 66 40 

Marks in 
Statistics 

85 50 92 58 70 65 88 56 52 46 
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6. Find an estimate of production in the year    

2000 by fitting the trend line by the method of 

least squares from the following data :  

Year 1991 1992 1993 1994 
Yearly production 
(in '000 tonnes) 50·3 52·7 59·3 57·3 

 

1995 1996 1997 1998 

56·8 60·7 62·1 58·6 

   

7. Using an appropriate interpolation formula           

find, from the following table, the value of y when 

x = 5·6 :  

x 2 4 6 8 10 

y 10 13 17 19 22 

   
8. (a) Explain the terms 'Skewness' and 

'Kurtosis'. 4 

 (b) Find the coefficient of variation from the 

following frequency distribution : 6  

Class-
interval 

0-10 10-20 20-30 30-40 40-50 

Frequency 4 10 16 12 8 

9. (a) If },,{ cbaA =  and },,,{ fecbB = , 

(i) Write all subsets of A. 

(ii) Find A – B and B – A. 2 + 2 

 (b) For any two sets A and B prove that 

BABAA ∩=−− )( . 6 

10. (a) If two unbiased dice are thrown once, what 

is the probability that the sum of the 

numbers appearing on the upper faces of 

the dice will be a prime number ? 5  

 (b) Find the variance of the following 

probability distribution :  5 

x 1 2 3 4 5 6 

p ( x ) 0·10 0·15 0·20 0·25 0·20 0·10 

     


